
М6х20

Гайка Эриксона

2 шт.4 шт.

2 шт.

М8

4 шт.*
М6х20М6х60
60 шт. 4 шт.

М6х12

2 шт.

4 шт.
Гайка Эриксона

Демпфер
резиновый

11 шт.**

8 шт.2 шт.8 шт.

 1 шт. 1 шт.

Съемный чехол
1 шт.

* 4 - при ширине 160 и более, 3 - при ширине 120, 140, 2 - при ширине 80, 90.
** 10 - при ширине 80, 90.

M6x20

х 2 - при ширине 80, 90

(50 см). - при ширине 80, 90

M6x20

M6x20

Инструкция по сборке кровати Niсole
без подъемного механизма



8

9 10

M6x20

Демпфер резиновый


	Страница 1
	Страница 2

